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Topic:- General Knowledge

1) Lalji Singh was popularly known as the of India. /

ATersi! g B HRA & & U H ST STt T

1. Father of DNA Fingerprinting / SIuT bRt & fuar

2. Father of Defense Research and Analysis / J1 Faeht 2 3R fIRAWr & S
3. Brain Behind Mangalyaan / HITQIT & YLFUR

4. Pioneer in Organic Agriculture / CACIRED EFW 4 SY-qd

Correct Answer :-

« Father of DNA Fingerprinting/ngqQ TR & fOre

2) Name the second and latest novel of Arundhati Roy released recently./
7Ta &1 A Refter sreerch ra & g 3R Td-aw U= &1 A1 Fad|
1. God of Small Things / TS 3Tt Td fg

2. Two States of My Marriage / ¢ @E\F 3 II'I's‘ R

3. The Ministry of Utmost Happiness / aﬁlﬁ@ 3T 3fcHRe gAY

4, White Tiger / ®ISC CIFTR

Correct Answer :-

+ The Ministry of Utmost Happiness / aﬁlﬁ@ 3T e gui=g

3) In which of the following cities of Madhya Pradesh is the Captain Roop Singh Stadium located? /
Ay & fafafed wel 4 3 feud owr wu Rizs wfsan Ruae?

1. Jabalpur / STd¢TYR

2. Gwalior / TTTCRR

3. Indore / 33 N
4. Bhopal / T

Correct Answer :-

« Gwalior / TTferIR

4) In which year did Shivraj Singh Chauhan take over as Chief Minister of Madhya Pradesh for the first time? /

A Y= & GBI & U § Ugdl IR R Rig de™ A 919 9 98 & UgUR U1 ur?



1. 2010
2.2005
3.2013
4.2008

Correct Answer :-

« 2005

5) How many seats are there in Sixteenth Lok Sabha of Madhya Pradesh? /
HAYGY & AIagd dipaHT # fa- Hic 52

1.48

2.38

3.35

4.29

Correct Answer :-

« 29

6) What is the objective of ‘Swayam’ introduced by Government of India? /

YRA TIPR §RT IR B T T8 o1 I |1 R?

1. Self-employment for urban youth / R ddh [ & oI TRITATR

2. Promoting self-financing colleges / WY faaaifd wicst o deldl Goll

3. Promoting administration by Panchayats / G2TId §RT IR Cal deldl o

4. Massive open online learning courses / a%’ TAA R TS FRI&0T e i &1 JieT

Correct Answer :-

+ Massive open online learning courses / a@: TR R 31\TJ:IFIT$7T fRr&101 UTSUH AT Y WA

7) The ‘Mohanpura Irrigation Project’ dedicated by the Prime Minister in June 2018 has come up in which of the
following districts of Madhya Pradesh? /

S 2018 H FUTHA gRT WAt Ay Riars uikaiemr aw uew & Fafafea 3 @ o9 3 e+ g 82
1. Narsinghpur / :W@fgﬂ?

2. Rajgarh /XTolig
3. Khargone / TR

4. Sheopur / W

Correct Answer :-

« Rajgarh /XVlTg

8) Whom did Shivraj Singh Chauhan replace as Chief Minister of Madhya Pradesh? /



HATY & GOIHH! & +u § Rrarer Rig Her A feae g o2
1. Uma Bharti / SHT HRdl

2. Digvijay Singh / feftaorg Rig

3. Motilal Vora / FlciielTel aIRT

4. Babulal Gaur / STS@TS TR

Correct Answer :-

« Babulal Gaur / STqITc] R

9) Which film producer founded the ‘Hindustan Film Company’ in 1917? /
1917 ¥ fw firew ftar A g frew Susit & wimg=r a1 A

1. Jayant Desai / STd aﬂ'l_ﬁc

2. Dadasaheb Phalke / GGl H'I%a Wlch

3. Guru Dutt / [®qd
4. V. Shantaram / 91, QAR

Correct Answer :-

« Dadasaheb Phalke / QIGl HI%H Wlch

10) Ashok Kumar, Anoop Kumar and Kishore Kumar, the popular Hindi film artists, belong from which one of
the following places of Madhya Pradesh? /

e ) firen FaTOR SR® FHR, 3T FUAR R fFR $UR, wer vex & FAufafaa A @ fra e
I | Tafta g2

1. Jabalpur / STICTYR
2. Indore / 33 N

3. Khandwa / Ggdl

4. Ashoknagar / IRMHTR

Correct Answer :-

« Khandwa / "&dl

11) ‘Flag Satyagraha’ was held in the year 1923 in which of the following places of Madhya Pradesh? /
T 1923 7 "9 TR A Yo & Fufifea # @ 19 @ W & smaifora fasar mar ure

1. Jabalpur / STdeTYR

2. Gwalior / TaTfCRIR

3. Indore / 33 N
4. Bhopal / uard

Correct Answer :-

« Jabalpur / STdeTYR



12) Mumtaz Mahal, the queen of Shahjahan, died in which of the following places of Madhya Pradesh? /
MMEoTgl BI I THATS Hed 3t I T U & Fafafea 4 3 fra wm d g3?

1. Ttarsi / m

2. Mhow / Hg

3. Panna / UdT

4. Burhanpur / §X8IYR
Correct Answer :-

« Burhanpur / gReHYR

13) Centre for Research and Industrial Staff Performance (CRISP) in Bhopal is established with technical co-
operation of which one of the following countries? /

UuTe & SR 3R SN TIw wexiH ¥ @emramsath Fuff@a i d s e In s
TH-P! HgaNT gRT RATfud forar Tar 82

1. Germany / ST
2. USA / 3R
3. Switzerland / I@e\aﬁs

4. France / /19

Correct Answer :-

« Germany / ST

14) Gurmeet Singh, a current Indian record holder, is associated with which of the following sports? /

TAHH HRA Raie YR, TRt Rig Fufafeq & 3 foa 9w 3 w&aia s
1. Discuss throw / [&%Hg Ul

2. Boxing / STToRIT

3. Hockey / Blabl

4. Race walk / X9 Al

Correct Answer :-

e Race walk / W EIVW

15) Who has been honoured with ‘Bharat Gaurav’ award by East Bengal Football Club in the year 2017? /
¥ 2017 § 3T ST Peard 79 & gRT P URA MRS’ REBR A A1 fomar wam i

1. Baichung Bhutia / a'lgﬂ"'[ “ﬂ%ﬁﬂ

2. Dhanraj Pillay / ENCATIG]

3. Pargat Singh / UITC g

4. Sunil Chetri / gid &t

Correct Answer :-



« Dhanraj Pillay / 4IRS e

16) The oldest Christian church in India was established in which one of the following states? /

YRA ¥ G99 RHET 391 79 faferad § & fora wea ° wifie fasar war are
1. Kerala / X

2. Himachal Pradesh / fgHTedl USRI

3. Goa / T

4. Mizoram / THIRY

Correct Answer :-

« Kerala/ ®d

17) Majhgawan mine located in Madhya Pradesh produces ./
wer vt & fRud AnTat wer ST B &

1. diamonds / _biﬁ'

2. bauxite / SIS

3. coal / PITAT

4. gold / T

Correct Answer :-

« diamonds / _Eﬁ%

Topic:- General Hindi

1) 3o & fore gt <t fawde ot gfml
1. 3{ST+3{d
2. 3Sl+3{d
3. 3fT+3id
4. 313 +3{d

Correct Answer :-

. 3fT+3id

2) <t &Y TRE AT Yerar &1 3 el d § HT are?
1. TRUS U

2. TRUC T

3. ST

4. ST

Correct Answer :-



3) qrfiRr & forg Tg wft fawde & gfw
1. WJ%’!{[

2. dIp+SRT

3. HFTJF%’QT

4, WF%"I[

Correct Answer :-

- T

4) B PIYG TU AT AP ATR?
1.9cClg

2. BT

3. 9%

4. TCTS

Correct Answer :-

. BaTg

5) TP TUMT PeTax &1 3d i fapaal A A A g?
1. e ST

2.9 | 9 &I

3. 0 T SHAT

4. Y S

Correct Answer :-

. A9 THAET

6) v&ft & g wEt watgarsh aral 2reqi @1 dfe 3t g
1. fagm, fagmm, @

2. fagmT, sitgTm, @

3. fagmT, fagma, @

4. fagm, fagma, @

Correct Answer :-

7) AR W AR 7S T g5 | - B 0 ° A B A1 seprR |2
1. SET SADBR



2. TSI DR
3, faQiwifad srddR
4. IPIGd APR

Correct Answer :-

8) TR & g wet vafgardt aret wreal 1 ufe &t i
1. TR, TI90T, 30

2. TR, YTy, S
3. YR, UTyT0T, Ut
4, UQTdR, UmNIUT, SUct

Correct Answer :-

9) ‘R M gerur v e & R o I A A HTaTe?
1. 3OTER

2. 3R

3. 3R

4. 3SR

Correct Answer :-

10) I HT 0 § A oI a1 9 faav 2= 82
1. Yd+
2. TTaA
3. TdA
4.1

Correct Answer :-

11) F g ST A T Ag U A P ATR?
1. Ry
2. =t
3. faRy
SREISK]

Correct Answer :-



12) W U A 941 Weg FE A A S ATR?
1. T

2. gHfd

3. 9

4. qTHTIS

Correct Answer :-

13) Sl B T T EP & ol 0P Ueg U A A ST ATR?
1. 3
2. 3
3. 3
4. 3T

Correct Answer :-

14) IPP’ &1 9 A | HI4 I1 9 fadw g 22
1. FAfdrea

2. FAfdy

3. fafhea

4. Foy

Correct Answer :-

15) CANCELLED

Ha s A A AP I I 32
1. HHYRY TR

2. TGS Y

3. fgy urg

4. Sgsiife 9a™

Correct Answer :-

. Sgsife JHE

16) TR PN sy e Tgul Rwg e



3R HT wiIfed W, PRI YW a1 1 - § 99 ¥ 9 &9 971 SeidR 32
1. TUD AADR

2. TSI ADR

3. IR SfBR

4. SUHT 3[ADR

Correct Answer :-
. TP ATADPR

17) Yf¥ WX 3ifa I T &=t 5+ AR ez =idt|

Wad @Td 3 3T W Ut arord Wt wordt - Rud I s w@m e

1.3y

2. YOHE T

3. AT

4. QA ™

Correct Answer :-

GRS IRES |

Topic:- General English

1) Choose the most suitable prefix for the given sentence:

Planktons are tiny ____ scopic plants that float near the top of oceans.
1. macro-

2. myo-

3. tele-

4. micro-

Correct Answer :-
 micro-
2) Choose the most suitable determiner for the given sentence:
of the two brothers managed to score well in the IAS examination even though they had studied very hard.
1. Any
2. Neither
3. Every

4. Some

Correct Answer :-

e Neither



3) Choose the correct form of modal auxiliary verb for the given sentence:

Why did you stay in a hotel when you visited Bristol? You __ have stayed with us.
1. could

2. shall

3. would

4. can

Correct Answer :-

e could

4) Choose appropriate articles for the given sentence:
breakfast served in college canteen today was not tasty.

1. A, the
2. A, an
3. The, the

4. The, a

Correct Answer :-

5) Choose the option with the appropriate punctuation inserted in the given sentence.
We saw cows buffaloes donkeys and hens in the village

1. we saw cows buffaloes donkeys and hens in the village!

2. We saw; cows, buffaloes; donkeys and hens in the village.

3. We saw cows, buffaloes, donkeys, and hens in the village.

4. We saw cows buffaloes donkeys and: hens in the village.

Correct Answer :-

* We saw cows, buffaloes, donkeys, and hens in the village.

6) Select the suitable conjunction to complete the sentence:
Hari tries hard, he cannot succeed.

1. Asif

2. If

3. Unless

4. When

Correct Answer :-

e Unless



Spot the error in the given sentence:

I could not understand why my father was angry upon me.
1. I could not

2. Understand

3. Why my father

4. Was angry upon me

Correct Answer :-

e Was angry upon me

8) Choose the option with the appropriate punctuation inserted in the given sentence.
Will you have some tea yes thank you

1. will you have some tea/ yes: thank you!

2. Will you have some tea, yes thank you?

3. Will you have some tea? yes: thank you.

4. Will you have some tea? Yes, thank you.

Correct Answer :-

* Will you have some tea? Yes, thank you.

9) Fill in the blank with a suitable collective noun from the given options:
The police arrested the ____ of thieves who were active in our area.

1. gang

2. crowd

3. group

4. mob

Correct Answer :-

10) Fill in the blank with simple present tense of the verb from the given options:
Please the truth else you will be punished.

1. spoke

2. speaking

3. speak

4. is speaking

Correct Answer :-

11) Choose the appropriate preposition for the given sentence.



The terrorists were killed ___the commandos in a fierce gun battle.
1. at

2. by

3. from

4. on

Correct Answer :-

. by

12) Choose the appropriate preposition for the given sentence.
Don’t worry we will be time for the inaugural ceremony.
1. within

2. at

3.in

4. by

Correct Answer :-

13) Choose the appropriate form of the tense for the given sentence.
She_____ of going on a long holiday.

1. is thinking

2. were thinking

3. think

4. thinks

Correct Answer :-
« is thinking

14) Choose the appropriate form of the verb to complete the given sentence.

The students were made _____ for three hours in the examination hall.
1. to be sitting

2. to sit

3. sit

4. sat

Correct Answer :-

e to sit

15) Choose the appropriate articles to complete the given sentence.

How blue sky looks! What beautiful day this is!



1. the, the

2. the, a

3.4a,an

4. an, a

Correct Answer :-
e the,a

16) Choose the option that best transforms the given sentence as directed:
The young magician learnt all sorts of tricks. (Question tag)

1. The young magician learnt all sorts of tricks, did he?

2. The young magician learnt all sorts of tricks, does he?

3. The young magician learnt all sorts of tricks, couldn’t he?

4. The young magician learnt all sorts of tricks, didn’t he?

Correct Answer :-

« The young magician learnt all sorts of tricks, didn’t he?

17) Choose the correct form of verbs that is in agreement with the subject:
These dogs _____ very active within the house and literally _____ burglar alarms.
1.1s, IS

2. 1s, has

3. are, is

4. are, are

Correct Answer :-
e are, are

Topic:- General Maths

1) Tarini is practicing for marathon by running around her square building. She completes 10 rounds of her
building. If each side is approximately 50 m, then what is the length of the running track she covers? /

af¥=it ot afeR sHRT & IR 3R Sie®? AU & g g &+ &) 81 98 3u- SHRT & 10 Tah
TR Hd! 31 Al Uh® YT 14T 50 HY B, ot TP gRT FaR fbw 1 I+ e ot et Fm gl

1. 2000 m / 2000 T
2. 1500 m / 1500 Ht
3. 1000 m / 1000 |
4.2500 m /2500 |

Correct Answer :-

« 2000 m /2000 H



2) If mine and my friend’s working rate ratio is 2:3 respectively, then the ratio of the number of hours to finish the
same work assigned to us is: /

i AT 3R TR SR BT HTH HA BT FUT HUI: 2:3 B, A gH Y T FHH BT 61 UG HIA | @ gel
D ST BT 3T =1 g

1. 3:4
2.23
3.3:2
4.1:3

Correct Answer :-

e 32

3) The quadratic polynomial whose sum of zeroes and product of zeroes are respectively -10 and -56 is: /
98 fguma 9gue forrd 3 &1 3 SR IR &1 [UFod ST -10 3R -56 82

1. x2+10x-56

2. x2-10%- 36

3, x2- 10x+ 56

4, X*+10x+56

Correct Answer :-
. xI+10x-56

4) Rohan goes to the ATM but forgets his four-digit password. If his password has 4 at the tens place and the
password is the least four digit number possible, then what is the required password? /

15T TN T & U 31U 91X 37 BT UIIas Hd SITdl 8 | Ife SHP Uras # ¢8ls & R W4 8 3T
Y9GS IR 3] B HHIfId I | BT TB 8, d ATaS Yras 471 82

1. 1040
2.1043
3. 1041

4. 1042

Correct Answer :-

« 1040

5) Kevin and Kim's roll numbers are the predecessor and successor of Ken’s examination roll number
respectively. If Ken’s roll number is 2440700, then the respective roll numbers of Kevin and Kim are: /

HfaT 3R frg & e TR HUM: B & TS A TR P gdadi oM wRadi 8 | afe F 1309
TR 2440700 B, A PAT 3R fPA & A T+aR HH: &

1. 2440702, 2440703
2. 2440699, 2440700

3. 2440699, 2440701



4. 2440700, 2440702

Correct Answer :-

* 2440699, 2440701

6) Find the average of 45.61, 56.72 and 23.67. /
45.61, 56.72 TG 23.67 T 3N JTd B

1.42

2.38.12

3.36

4.40.4

Correct Answer :-

7) Nikhil has a chart paper rectangular in shape with a breadth equal to 28 cm. He rolls the paper along the
breadth and a cylinder type shape is formed. When he measures the radius of the circle on either side of the
cylinder, he realizes it is 20 cm. What is the volume of air inside the chart paper? /

ffee & T SMUAeR PR &7 A1¢ TR ¢ orae! DeE 28 A9 & R 21 98 PRI &1 ST DS &
AedT 8 3R 309 & UPR P ATHR § o141 ¢ | 99 98 9o & [t 1t e gu o) s s wmar g, @)
I A 31 @ 3 a8 20 9 21 91 duR & iR g1 &7 S | 82

1. 34800 cubic cm / 34800 T THY
2. 35600 cubic cm / 35600 T I
3. 35200 cubic cm / 35200 T I

4. 34200 cubic cm / 34200 9 TH

Correct Answer :-

« 35200 cubic cm / 35200 T IH

8) CANCELLED

Find the solution of 1—+3I =((x—3)x-3) -|-x1—: !

8x

4.

Correct Answer :-



%) CANCELLED
Which of the following is an improper fraction? /

Frafafea ¥ 9 o149 v faww @r s R e

5
5

3
5

W en

LA
L | L

4.

Correct Answer :-

10) Which of the following is a perfect square? /
fFafafead ¥ s g o 32

1.2162

2. 9637

3. 8281

4. 6843

Correct Answer :-

» 8281

11) In a farm of cows and chickens, the number of chickens is three times the number of cows. If the total
numbers of legs of all creatures in the farm is 560, then find the respective number of chickens and all creatures. /

Tt 3R gRfal & uer wid &, gfifal & v wmal 9t Wen 3t &9 70 31 afe wid § bt wifor & R
A & 560 B, aF GRTAT sz waft wifdra &5t swfires e 3 #31

1. 50, 200

2.132, 280

3. 168, 224

4. 56,224

Correct Answer :-

« 168, 224



12) Simplify- ((36 +12) x (Sof 120 — 2 of 36 —:?)) —98
T B ((36+ 12) X ( 120$r§— 36Eh‘r§ +%})—93

1. 100

2. 189

3.99

Correct Answer :-

« 100

4, 7

Correct Answer :-

14) Ifp(y)=y® - 3y*+ 5y -3 is divided by a polynomial g(v). the quotient is y-3 and the remainder is
Tv-9, then g(v) is: /

e p(y) =y —3y>+ Sy -3 T U FgUE gly) Q@RI faaniaid fhar =idi &, dl ATTEe v-3
HR e 7y-9 AT 8, SEET gv) &

15) Arrange the following in ascending order:
5 23 9 2 14

1_ ¥ _J‘_ ’ 2_ -

4 2005 37 6
ferafaf@d & 3RS &7 § Jaieerd &

5 23 9 2 14

i ] r ¥

4’'20'5" 737 ¢

!

¥



15 9 22 23 14
;. 4’57 73720" 6
23 9 15 14 5
2 2058 74" 6" 73
239 5 2 14
3020'5° 74" 7376
5 g 2 14 23
1EJ§J2§J_!_
4 6 20

2 9 14 2
. po B 1= — 25
16)

. The numberis: /[

b | =

When E is subtracted from a number we get
N : 6 1 N
99 Th g A = Te 9Y G WIS giaT &1 6 &

25
1. 16

31

9
5]

19
4. 14

Correct Answer :-

17) Find the solution of 6x + 2= 74+ &

6x+§= 7+3§a?r5ﬂ AT HL
1.1
2.1.5
3.2
4.-1

Correct Answer :-

Topic:- General Aptitude

1) If POND is coded as RSTL, then how is PEAR written in that code? /

Ife POND @1 RSTL & FU H HIfSd {1 SI1aT 8, f PEAR P 59 P18 H f5y yapR fordi?



1. RIGZ
2.JCLZ
3. GHIZ
4. GIJH

Correct Answer :-

« RIGZ

2) If ENGLAND is written as 1234526 and FRANCE is written as 785291, then how is DENAARC coded? /

IfE ENGLAND Y 1234526 & U # foran ST @ 3R FRANCE Y 785291 & & ¥ fer@r Sirar g, ot
DENAARC & {59 YR ®ifsd fear smem?

1. 6125589
2. 834555
3. 835122
4, 381171

Correct Answer :-

« 6125589

3) In arow of girls, Geetanjali is 20t from the right end and Sapna is 10" from the left end. When they

interchange their positions Geetanjali becomes 25" from the right end. What is the total number of girls in the
row?/

asfal 3 ue ufey &, Maiereht g oiv | 209 WM 1R 3R o7 918 3R | 108 R WR ¥ 59 ) o A
It FRURY oY et et & ot Haisten, 3T¢ & 257 RIF W Ugg oIt ¥ 1 Ufe § wrsfea) 9t oo Gen qarsw?

1. 34
2.24
3.44

4.35

Correct Answer :-

4) In a simultaneous throw of two dice, what is the probability of getting a nine? /

3 Ui D1 TP 1Y BepA UR, A 31 B uifderdr o gifie

= | o

w
WO |



3
4. 0

Correct Answer :-

5) How many liters of pure milk are there in 6 liters of a 40% solution? /
40 yforra faeraa & 6 fiex ¥, I g foveA e g2

1. 1.6 liters / 1.6 WX

2. 1.4 liters / 1.4 TR

3. 2.6 liters / 2.6 TR

4. 2.4 liters / 2.4 TR

Correct Answer :-

. 2.4 liters /2.4 TeX

6) What is the length of the bridge when a boy riding at 21 km/hr can cross in 5 minutes? /

I T P AraTs 71 gl R v ds bt 21 fradier e #l ara A s FRa gus Fe AR s Aar @2
1. 1750 meters / 1750 HIcX

2. 1550 meters / 1550 T

3. 1850 meters / 1850 T

4. 1650 meters / 1650 HIcX

Correct Answer :-

« 1750 meters / 1750 HIcX

7) The C.P of an article is 60% of the S.P. The percent that the S.P is of C.P is: /

TS axg P19 T, fasra gea 37 60 wlawra 81 98 ufasra <) A e &0 va qea 31 8:
1. 155.66%

2. 160.66%

3. 170.66%

4. 166.66%

Correct Answer :-

» 166.66%

8) A man has 60 kg of tea, a part of which he sells at 5% loss and the rest at the cost price. In this business he gets
a loss of 3%. Find the quantity which he sells at the cost price. /

TS 3TH & U $d 60 fHaram a4 8, foraeT te ffwa a8 5% & JoaH R ok [y R and g w®
ITAT 81 59 ATINT T I 3%, B g1 1 St 3 | I8 WA gaTs¢ ol 98 anTd o IR J9ar g

https://www.freshersnow.com/previous-year-question-papers/



1. 26 kg / 26 T
2.20 kg / 20 fpamum™
3.22 kg / 22 fpamm
4.24 kg / 24 famm

Correct Answer :-

. 24 kg /24 A

9) Tickets numbered 1 to 15 are mixed up and then a ticket is drawn at random. What is the probability that the
ticket drawn bears a number which is a multiple of 3? /

19 15 %6 & TR arelt fewel &1 mu | e faan wimar 8 ik fibe ues fewe &t arefess wu A e
foran s 3 1| n wilkiean @ s el 15 fewe &Y <ivem 3 & ot ¥ gt

1. 10

4. 10

Correct Answer :-

10) By selling a bicycle for Rs. 3000, a shopkeeper gains 15%. If the profit is reduced to 8%, then the selling price
will be .

3000 FUY P TP ATZHA B 3D, gHTGR B! T 15 UTA=Td BT a1H YT g 3 1 IfE A1H Y e 8
R as sx fearaR di fassagqea grmI

1. Rs. 2817.39/2817.39 ®¥4U
2. Rs. 2818.39/2818.39 ¥UU
3. Rs. 2820.39/2820.39 34U
4. Rs. 2819.39/2819.39 ®UU

Correct Answer :-

« Rs.2817.39/2817.39 %UU

11) In how many ways can a committee of 4 people be chosen out of 8 people? /
4 AN Bt T [FFT B 8 A A A FAPR fhant aie! | 911 &I gt 82
1. 140

2. 110



3.45
4.70

Correct Answer :-

« 70

12) The present ages of three persons Raghav, Amit and Suresh are in proportions 7:4:9 respectively. Eight years ago,
the sum of their ages was 56. Find their respective present ages? /

T cafRral Iaa, i SR R B I TG FHT: 7:4:9 F U W &1 376 T Ugd, SB! Mg FT
TN 56 YT| STD! HHRT: TAAT AT JTd H?

1. 8 years, 20 years, 28 years / 8 a’ﬁf, 20 a’ﬁf, 28 Ty

2. 20 years, 35 years, 45 years / 20 a’ﬁf, 35 a’ﬁf, 45 EI'Gf
3. 28 years, 16 years, 36 years / 28 aﬁ, 16 aﬁ, 36 El'Gf
4. 13 years, 16 years, 25 years / 13 a'Ef, 16 aﬁ, 2599

Correct Answer :-

« 28 years, 16 years, 36 years / 28 atf, 16 a'ﬁf, 36 9Y

13) Lalita is 40 years old and Shamina is 60 years old. How many years ago was the ratio of their ages 3:5
respectively? /

aferar a0 o @Y 8 MR MAAT 60 a9 B B 1 fran af ugd, IAST TG BT SrFUTA HHR: 3:5 IST THM?
1.37 years /37 9%

2. 20 years /20 ¥

3.5years /5 a4

4. 10 years/ 10 a9

Correct Answer :-

e 10vyears/ 10 a9

14) After two successive decreases of 20%, the price of computer is Rs. 20800. What is the original price? /
20 UFIRId B G IR TAR FH & 916, FHYER B BIAC 20,800 FUT § | TRATID B 19 T 82

1. Rs. 31500/ 31500 ¥4U

2. Rs. 33500/ 33500 ¥4

3. Rs. 30500 / 30500 ¥UUY

4. Rs. 32500 /32500 >UU

Correct Answer :-

« Rs. 32500/ 32500 %4V



To answer this question, study the following arrangement:
TY2 =S£8EGM*TSHPOKLB@WQ132CDo

How many such letters are there each of which is either immediately followed by a number or

immediately preceded by a symbeol, but not both? /

58 U &I 3cai oo & fav, Aafaf@d e &8 & «aa § &8
TY2=S£BEGM*TSHPIKLB@WQ134CDO
sad A el 3R W § I { U3E FL A1 O {d I8 U W AT J’d 96

TS Ydld & Bidl AT AT &, dfhd el o A7

1.5

2.8
3.6

4.4

Correct Answer :-

Topic:- General Computer

1) Very small portable computers that fit in our hands are called ./

9Ed BIC Uldaa Hrgex s ga g1l # fibe 814 €, 3= HET ATaT 8|
1. Palmtops / qiAerg

2. Desktops / el

3. Laptops / dgeryg

4. Micro computers / WW

Correct Answer :-

« Palmtops / BEriie

2) In MS Excel 2010, cell style option will be found in______ ./
THUH TRIA 2010 H, AT WISA MR W o1 fenm|
1. Insert tab / ET\‘TCF ?:a

2. Home tab / BH |

3. Page layout tab / Ul 33T e

4. View tab / &L%a

Correct Answer :-

o Home tab/ E’;Tq o9

3) In MS Excel 2007, the outlined cell (the one with the dark borders) within the worksheet is referred to as
the /

THLH TR 2007 §, ghfie A 3cdrg-s Ad (STH JIsd arell Ueh) &I P =9 A ST ST 8



1. Active cell / Ufded Ia
2. System cell / e aa

3. Inactive cell / 3_'{@% IJq
4. Present cell / Uoie 9d

Correct Answer :-

« Active cell /Q'% Id

4) In MS Excel 2007, a single spreadsheet can contain i
THTH THd 2007 H, T RivTa Gisfie d g g@d gl
1. Only 16000 rows and 1000000 columns / Rt 16000 ¥ 3R 1000000 HIAH

2. Only 1000000 rows and 16000 columns / 51000000 I 3R 16000 BITH

3. More than 1000000 rows and 16000 columns / 1000000 J 31fdd ¥ 3R 16000 F HfIF HiaH
4. Less than 1000000 rows and 16000 columns / 1000000 ¥ &HH I 3R 16000 ¥ HH HIaH

Correct Answer :-

« More than 1000000 rows and 16000 columns / 1000000 I 31f¥e I 3R 16000 T 3B HIdAH

5) In MS Excel 2007, what is the main purpose of a template? /

THTH T 2007 H, TH SHIAE $T YT St,xT HT g1 82

1. It is for repeated use of a workbook layout / g Tdh W @IG{IB_C’ P TR-ER B'CIThT[ & %’Q % |

2. It is mandatory to use template in excel / Ug \Hﬁaﬁ % f& Qﬂ@a H e &1 IuAnT faar SJ|

3. Arithmetic operations can be calculated easily / 3BT U=l Bt ST | T Y 7 Febalt B |
4. None of the above / G'qﬂaﬂ f[ ﬁ ﬁ's‘ :I_Ea

Correct Answer :-

« It is for repeated use of a workbook layout / g U EIW TAI3T P IR-IR YA b %I'Q % |

6) In MS Excel 2010, the shortcut key used to hide the selected columnis_____ ./

THTH T 2010 H, AR S BIAH B 3158 3 & U ST S A arel Aidpedt g1
1. Ctrl+9

2. Ctrl+0

3. Ctrl+8

4. Ctrl+7

Correct Answer :-

o Ctrl+0

7) In MS Excel 2010, themes options can found in .

THUH TR 2010 §, ¥ e AU S 2|



1. Insert tab / 37\‘4_3 e

2. Home tab / §H |

3. Page Layout tab / UGl 33T e
4. View tab / 5’1%3

Correct Answer :-

» Page Layout tab / U9 d3f3e oF

8) In MS Excel 2010, Ribbon is a collectionof ./
THTI T 2010 7, Re9 ST JUg B

1. Spreadsheets / @E'Qﬁaﬂ

2. Documents / W@

3. Tabs / &84

4, Files / BIgcd

Correct Answer :-

« Tabs/oH

9) In MS Word 2007, what is the maximum font size that can be set up by typing manually for the font? /

%mwaézomﬁ',aﬂmﬁ?mw%mﬁ?%mﬁq&mwﬁmwwmmm

1. 2000

2.72

3. 1638

4. 500

Correct Answer :-

« 1638

10) In MS Word 2007, where can you find the bullets and numbering icons? /

THTY T3 2007 §, 3T gaie 3R HafAT 3M5H+1 Fei g8 aod 82
1. Insert tab / IIC oo

2. Home tab / G <&

3. Design tab / f&oTg— ¢9

4. View tab / 3 ¢§

Correct Answer :-

« Home tab/ ff[‘q o9



THUY T8 2007 §, qide &1 Hel ST gl
1. Margin aligns / I e

2. Page orientation / U9 3fifkEe=H

3. Columns aligns / PiaH 3frs

4. Print preview / fie fﬁsq

Correct Answer :-

« Page orientation / CEEEIREE!

12) In MS word 2010, the shortcut key used to change the characters into italicsis____ ./
TAEE TS 2010 F, v Pl scRP ATgem g <iicdpe 3t o1 squTal fowan SIran g
1. Alt+I

2. Ctrl+1

3. Cul+B

4, Ctrl+D

Correct Answer :-

o Ctrl+l

13) Choose the INCORRECT option that is not available in the MS-Word 2007 Table Tools Design Ribbon. /
I TTad fame 3 g o THTH-aS 2007 & 9 god fawmsH Ra o Suasy 1 21

1. Text Direction / CHRC STARGR

2. Table Styles / WW

3. Table Style Options / ogd Ked T

4. Draw Borders / gl ey

Correct Answer :-

« Text Direction / CRC STINGR

14) We use to separate from one word to another in MS Word 2007. /

THTY T3 2007 H, TP INeg BT gX TG A ST H3A & fg gq BT A HA B |
1. Toolbar / AR

2. Spacebar / THAR

3. Navigation bar / AfGIRM SR

4. Window bar / f[dSI IR

Correct Answer :-

» Spacebar / WHAR

15) Which of the following is an output device? /



Frafaiaa ¥ 9 o9 @ te nseye faga @2
1. Keyboard / CACI )

2. Mouse / HISY

3. Joy Stick / g Red

4. Monitor / T-IeR

Correct Answer :-

« Monitor / HIFIEX

16) Which one of the following is an operating system? /

frafafea & 9 919 W te iR Rrea 32
1. Winrar / fdRR

2. MS-PowerPoint / W-W

3. Linux / fere

4. MS-Access / W—m

Correct Answer :-

« Linux / fereg

17) CANCELLED

In MS Excel 2007, which of the following ribbons is used to change the themes, colours, fonts and other visual
effects in a file? /

THTH T 2007 H, Fafaf@a & A i Rea &1 sxaura ve wiga d A, 31, vie iR o fagema
Thacy P gga & forg far sirar @2

1. Page Layout / U d3MT3e
2. None of the above / 3?1?[ | ﬁ_sc Tel
3. Design / Ealgq

4. View / &

Correct Answer :-

« Page Layout / U 313



